9 5 20

#8 3.
»§32

*

= § 3.3
#8 4.

8§41

=§42

5/20/03

5/20/03

§ 3.2

4 P(B)>0
= (1) P(AIB) O
= (2) P(AIB)=1 A B
= (3) AnB AnB

(1)

An B AnB =& for (i£ j)
P(A,_ A, ..|B =P(A,|B) + P(A,|B)+

. (4) B HB G PG)%O0
P(HB) _ P(H)
P(G|B) P(G)
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§ 3.3

& Bayes’ theorem
. P(AIB) (i=1,...,n)
P(B.

P(Bi1A)

P(B)>0 B

P(A |B)P(B)

B|A)=
PEIA P(A |B)P(B) + P(A | B°)P(B®)
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P(A)>0 P(BIA)
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8 3.3 (2)
®
. By, By, ..., B, i=1,...,
P(B)>0
PB, B, .. Bp=1
P(A)>0 A
A |B;)P(B;
P, | ) - —PAIBIPB)
D P(A|B))P(B)
i=1
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&
' P(A|B)=1
' P(A]|B%)=1/2
- P(B)=1/3
. P(B%)=1-P(B)=2/3
) P(B|A)
P(B|A) = P(AIB)P(B)C —= 1x1/3 =1
P(A |B)P(B)+ P(A |BS)P(B®) 1x1/3+1/2x2/3 2
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